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5.08 Notes: Solving a 3x3 System of Equations /0‘ 2é #‘ j:Lﬁ " 3.\- //,m 'ﬂ')( N‘Aﬂ’ﬂ)
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Solving a 3-variable system of equations: you have 3 equations and can still use the previous methods from 2-
variable systems. Mainly, we use the elimination method when solving by hand. For this unit, we can use a

matrix equation and use technology!
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Write each sy's'tem as a matrix equation and then solve with technology.

3. 6y — 5z =—6

—x —9y + 2z =-13 :
6z+5=2y—3x \

o 2x—3y+2z=16 , , SIS ,
4. —4x+6y—4z=9 - - : T : . - T
8x+z=-11 o '




26

Whrite each system of equations as a matrix equatlons Solving using an inverse matrix and technology,
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